
9 781292 039657

ISBN 978-1-29203-965-7

Student Workbook for College Physics:
A Strategic Approach Volume 2

Knight     Jones     Field     Andrews
Second Edition

Physics:  A
 Strategic A

pproach    Vol. 2    K
night et al.    2e



 
 
 

Pearson New International Edition

International_PCL_TP.indd   1 7/29/13   11:23 AM

Student Workbook for College Physics:
A Strategic Approach Volume 2

Knight     Jones     Field     Andrews
Second Edition



Pearson Education Limited
Edinburgh Gate
Harlow
Essex CM20 2JE
England and Associated Companies throughout the world

Visit us on the World Wide Web at: www.pearsoned.co.uk

© Pearson Education Limited 2014 

All rights reserved. No part of this publication may be reproduced, stored in a retrieval system, or transmitted 
in any form or by any means, electronic, mechanical, photocopying, recording or otherwise, without either the 
prior written permission of the publisher or a licence permitting restricted copying in the United Kingdom 
issued by the Copyright Licensing Agency Ltd, Saffron House, 6–10 Kirby Street, London EC1N 8TS.

All trademarks used herein are the property of their respective owners. The use of any trademark 
in this text does not vest in the author or publisher any trademark ownership rights in such 
trademarks, nor does the use of such trademarks imply any affi liation with or endorsement of this 
book by such owners. 

ISBN 10: 1-269-37450-8
ISBN 13: 978-1-269-37450-7

British Library Cataloguing-in-Publication Data
A catalogue record for this book is available from the British Library

 Printed in the United States of America

Copyright_Pg_7_24.indd   1 7/29/13   11:28 AM

ISBN 10: 1-292-03965-5
ISBN 13: 978-1-292-03965-7

ISBN 10: 1-292-03965-5
ISBN 13: 978-1-292-03965-7



Table of  Contents

P E A R S O N  C U S T O M  L I B R A R Y  

I

1. Student Workbook for Wave Optics

1

1Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

2. Student Workbook for Ray Optics

9

9Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

3. Student Workbook for Optical Instruments

19

19Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

4. Student Workbook for Electric Fields and Forces

27

27Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

5. Student Workbook for Electric Potential

41

41Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

6. Student Workbook for Current and Resistance

53

53Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

7. Student Workbook for Circuits

61

61Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

8. Student Workbook for Magnetic Fields and Forces

75

75Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

9. Student Workbook for Electromagnetic Induction and Electromagnetic Wave

87

87Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

10. Student Workbook for AC Electricity

99

99Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

11. Student Workbook for Relativity

105

105Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

12. Student Workbook for Atoms and Molecules

115

115Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

13. Student Workbook for Quantum Physics

123

123Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews



II

14. Student Workbook for Nuclear Physics

133

133Randall D. Knight/Brian Jones/Stuart Field/James H. Andrews

139

139Index



1 What is Light?

1. A light wave travels from vacuum, through a
transparent material, and back to vacuum. What is
the index of refraction of this material? Explain.

2. A light wave travels from vacuum, through a
transparent material whose index of refraction is
n = 2.0, and back to vacuum. Finish drawing the
snapshot graph of the light wave at this instant.

2 The Interference of Light

3. The figure shows the light intensity recorded by a detector in an interference experiment.
Notice that the light intensity comes “full on” at the edges
of each maximum, so this is not the intensity that would
be recorded in Young’s double-slit experiment.

a. Draw a graph of light intensity versus position on the
film. Your graph should have the same horizontal scale
as the “photograph” above it.

b. Is it possible to tell, from the information given, what the
wavelength of the light is? If so, what is it? If not, why not?
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4. The graph shows the light intensity on the viewing screen
during a double-slit interference experiment. Draw the
“photograph” that would be recorded if a piece of film
were placed at the position of the screen. Your “photo-
graph” should have the same horizontal scale as the graph
above it. Be as accurate as you can. Let the white of the
paper be the brightest intensity and a very heavy pencil
shading be the darkest.

5. The figure shows the viewing screen in a double-slit experiment.
For questions a–c, will the fringe spacing increase, decrease, or
stay the same? Give an explanation for each.
a. The distance to the screen is increased.

b. The spacing between the slits is increased.

c. The wavelength of the light is increased.

6. In a double-slit experiment, we usually see the light intensity only on a viewing screen.
However, we can use smoke or dust to make the light visible as it propagates between the slits
and the screen. Consider a double-slit experiment in a smoke-filled room. What kind of light
and dark pattern would you see if you looked down on the experiment from above? Draw the
pattern on the figure below. Shade the areas that are dark and leave the white of the paper for
the areas that are bright. 
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3 The Diffraction Grating

7. The figure shows four slits in a diffraction grating. A set of circular
wave crests is shown spreading out from each slit. Four wave paths,
numbered 1 to 4, are shown leaving the slits at angle The dotted
lines are drawn perpendicular to the paths of the waves.

a. Use a colored pencil or heavy shading to show on the figure the
extra distance traveled by wave 1 that is not traveled by wave 2.

b. How many extra wavelengths does wave 1 travel compared to wave 2?
Explain how you can tell from the figure.

c. How many extra wavelengths does wave 2 travel compared to wave 3?

d. As these four waves combine at some large distance from the grating, will they interfere
constructively, destructively, or in between? Explain.

8. Suppose the wavelength of the light in Exercise 7 is doubled. (Imagine erasing every other
wave front in the picture.) Would the interference at angle then be constructive, destructive,
or in between? Explain. Your explanation should be based on the figure, not on some equation.

9. Suppose the slit spacing d in Exercise 7 is doubled while the wavelength is unchanged. Would
the interference at angle then be constructive, destructive, or in between? Again, base your
explanation on the figure.

u1

u1

u1.
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10. These are the same slits as in Exercise 7. Waves with the same wavelength are spreading out
on the right side.

a. Draw four paths, starting at the slits, at an angle such that the wave along each path
travels two wavelengths farther than the next wave. Also draw dashed lines at right angles to
the travel direction. Your picture should look much like the figure of Exercise 7, but with
the waves traveling at a different angle. Use a ruler!

b. Do the same for four paths at angle such that each wave travels one-half wavelength
farther than the next wave.

11. This is the interference pattern on a viewing screen behind two slits.
How would the pattern change if the two slits were replaced by 20
slits having the same spacing d between adjacent slits?

a. Would the number of fringes on the screen increase, decrease, or
stay the same?

b. Would the fringe spacing increase, decrease, or stay the same?

c. Would the width of each fringe increase, decrease, or stay the same?

d. Would the brightness of each fringe increase, decrease, or stay the same?

u2

u1/2

Δr = 2l Δr =   l1
2
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4 Thin-Film Interference

12. The figure shows a wave transmitted from air through a thin oil film on water. The film has a
thickness of  . 

a. Using the indices of refraction that are given, indicate at each boundary on the diagram
whether the reflected wave (not shown) undergoes a phase change at the boundary. 

b. Draw in the reflected wave from the first boundary (air/oil) and the reflected wave from the
second boundary (oil/water). Extend both reflected waves back to the left edge of the figure. 

c. Do the two reflected waves interfere constructively, destructively, or in between? Explain. 

13. The figure shows a wave transmitted from air through a thin oil film on glass. The film has a
thickness of . 

a. Using the indices of refraction that are given, indicate at each boundary on the diagram
whether the reflected wave (not shown) undergoes a phase change at the boundary. 

b. Draw in the reflected wave from the first boundary (air/oil) and the reflected wave from the
second boundary (oil/glass). Extend both reflected waves back to the left edge of the figure. 

c. Do the two reflected waves interfere constructively, destructively, or in between? Explain. 

n1 5 1.00 n2 5 1.40 n3 5 1.50

t

n1 5 1.00

t

n2 5 1.40 n3 5 1.33

t = loil/2

t = loil/2
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14. The figure shows the fringes seen due to a wedge of air between two flat glass plates that
touch at one end and are illuminated by light of wavelength .

a. By how much does the wedge of air increase in thickness as you move from one dark fringe
to the next dark fringe? Explain. 

b. By how much does the wedge of air increase in thickness from one end of the above figure
to the other? 

c. Suppose you fill the space between the glass plates with water. Will the spacing between the
dark fringes get larger, get smaller, or stay the same? Explain.

Glass
Air

Glass

l = 500 nm
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5 Single-Slit Diffraction

15. Plane waves of light are incident on two narrow,
closely-spaced slits. The graph shows the light
intensity seen on a screen behind the slits.

a. Draw a graph on the axes below right to show
the light intensity on the screen if the right slit is
blocked, allowing light to go only through the
left slit.

b. Explain why the graph will look this way.

16. The graph shows the light intensity on a screen
behind a 0.2-mm-wide slit illuminated by light
with a 500 nm wavelength.

a. Draw a picture in the box of how a photograph
taken at this location would look. Use the same
horizontal scale, so that your picture aligns with
the graph above. Let the white of the paper
represent the brightest intensity and the darkest
you can draw with a pencil or pen be the
least intensity.

b. Using the same horizontal scale as in part a,
draw graphs showing the light intensity if

i.
ii.

iii.

iv. l = 500 nm, a = 0.4 mm.

l = 500 nm, a = 0.1 mm.

l = 1000 nm, a = 0.2 mm.
l = 250 nm, a = 0.2 mm.
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6 Circular-Aperture Diffraction

17. This is the light intensity on a viewing screen behind a circular aperture. 

a. In the middle box, sketch how the pattern would appear if the wavelength of the light were
doubled. Explain. 

b. In the far right box, sketch how the pattern would appear if the diameter of the aperture
were doubled. Explain. 
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Note: Please use a ruler or straight edge for drawing light rays.

1 The Ray Model of Light

1. a. Draw four or five rays from the object that allow A to see the object.

b. Draw four or five rays from the object that allow B to see the object.

c. Describe the situations seen by A and B if a piece of cardboard is lowered at point C.

2. a. Draw three or four rays from object 1 that allow A to see 
object 1.

b. Draw three or four rays from object 2 that allow B to see 
object 2.

c. What happens to the light where the rays cross in the 
center of the picture?

CA B
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3. A point source of light illuminates a slit in an
opaque barrier.

a. On the screen, sketch the pattern of light that
you expect to see. Let the white of the paper
represent light areas; shade dark areas. Mark
any relevant dimensions. 

b. What will happen to the pattern of light on the
screen if the slit width is reduced to 0.5 cm?

4. In each situation below, light passes through a 1-cm-diameter hole and is viewed on a screen.
For each, sketch the pattern of light that you expect to see on the screen. Let the white of the
paper represent light areas; shade dark areas. 

5. Light from an L-shaped bulb passes through a pinhole. On the screen, sketch the pattern of
light that you expect to see. 

Pinhole

9-cm-tall,
1-cm-diameter
lightbulb

3 m

6-cm-long

1 m

10-cm-tall
glowing filament
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